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33.45 34.30 35.39 36.08 36.98 37.24 38.80 38.89
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2:31.55 2:33.71 2:42.99 2:44.13 2:49.77 2:57.14 3:01.90 3:14.46
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59.32 1:01.01 1:01.65 1:04.16 1:05.33 1:05.74 1:06.91 1:07.28
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2:16.01 2:20.78 2:31.98 2:47.86 2:49.74
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2:23.83 2:23.89 2:24.96 2:26.72 2:29.27 2:35.27 2:38.15 2:38.38
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100m |[ES56WO —glEsolin —#gEsoiun0 —R|BEEZRAE K2|EL5NAP E2(ASGH TE S3[(ASGHTE KX1|ASGHTE =1
ALFH 51.48| K& 51.70| K& % 52.81 53.41 54.30 54.57 54.93 58.16
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e 7 BE BRE |2 BAEH |3 BEXERR |4 BN RE |5 R EF |6 TN W | 7 HEH —B| 8 HEH MM
100m |EBBILO —#&|ASGHTE &H1|@rsc =2|KSGTH B1|E558SS —@|AERER a1 | FEEE —| TEIXSK =3
58.45 1:05.42 1:07.21 1:07.63 1:08.30 1:09.05 1:09.30 1:09.62
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200m |ASGH TE =1|@AmSC E2|KSGTHE B1|THEIXER S3|FHIEEKR =2
2:21.65 2:26.32 2:26.71 2:31.95 3:01.06
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" ié:ﬁ 29.75 32.67 32.86 33.14 35.45 35.85 42,03 43.08
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2:21.29 2:25.27 2:26.53 2:27.25 2:39.42 2:46.07 2:46.64 2:51.45
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55.12 1:03.57 1:06.47 1:10.86 1:11.20 1:21.69 1:23.96
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200 ASGHTHE SE3(ASGHTHE Fi|EkEHk B2|kv= — g
" AE#H 2:0&._:14 2:2232 z:zé_.éz 2:49.83
B ARL— | 7 ZEMFE |2 R KE |2 WM EL |4 BEHEL| S Bl = |6 KA ER |7 AREMK| 8 ERN KF
200m |Eo0WA —@|ESSSEE EZ2|E05ER 0 —H|XESK E2|ELONAP B |EREXK Bl|dA—Ivy  BiREEK =3
AE#H 2:06.95 2:18.02 2:21.88 2:21.99 2:23.54 2:23.99 2:35.20 2:35.56
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50m EL5NAP  p6|ELLHIF  he|IFBEMLA he|ESS-fEIL /N|FERISC IN5|EHHSSS IN5|ASGHTTE /5 |/NEFEHSC /M4
AE#H 29.03 31.90 32.32 32.72 32.90 33.76 33.98 34.27
. 7R Em |2 EH BE |3 KRN |4 HBKEWN |5 KE B (6 SE FE|7 WE BE |8 =F MY
100m [FBEMUA N6|ZSDMHF  e|ESOMIF /e |EARESC IN5|ESBNAP  /N6|ELLSERE /5 |ERSC N5 |FEmISC v
1:08.00 1:09.94 1:11.63 1:13.28 1:16.75 1:17.31 1:17.85 1:18.83
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50m EHLSEE  /6|ELLSEHF  /e|ES0HIFH e |Eoo-fEIL N5 |ESHSEE  /e|FAmSC NESLHH N6|ASGHTE /N5
ALFH 32.10 35.60 37.54 37.54 41.70 42.64 48.19 58.15
e 7 EHLIED | 2 BN BE¥
100m |E5BSHERF  /h6|[XAEMLO /e
1:14.56 1:14.98
. 7 Bf 'S
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2:59.22
o 7 WWHEHE | 2 RNAHLE| 3 HHEH BRE | 4 Fh BEE |5 WE B |6 M AHEH |7 M BF | 8 FEHERLE
50m Ersc N6 [EDSHIHF  /6|ESHSSSS s |ESS-fEIL N|ERESC IN5|ASGHTTE  /h6|[E5HEAILO /N6|KSGTHE NG
40.08 4254 42.61 42.76 44.39 45.12 45.32 47.15
TE 7 teE ME |2 REAHAE |3 BUEE |4 M EF |5 WM AHIEH |6 KA EE |7 BH R |8 BEKRK E=H
100m |EDDSSS N5 (ESSHIF  6|EHLSEE /6|[EAEMLO 6|ASGH TE /e|/NEFEHSC  /p4|FEEESC N |FEmISC IN5
1:31.89 1:32.29 1:33.29 1:33.38 1:37.30 1:38.59 1:39.12 1:45.68
TE 7 WWEESZE | 2 NEHLIE
200m |AFSC NG =2 1F S\
3:09.87 3:16.47
Nao54 | ! RiZ BEE | 2 HERMNMGETF |5 BHUNEE| ¢4 MAREF |5 AE B% |6 20 #$F | 7 #LU FF | ¢ HH ES
50m EHLNAP  6[ELLSEE  /N6|E5L-EIL /NMIASGH TR /N5 |ESL-EIL N5 |ESLHIH 6|EDHSEE /e |AmSC NG
30.46 30.47 32.95 33.69 33.90 35.04 35.14 37.54
a4 | ! KiE BB | 2 BLMEE |3 BE BE |4 MAERF |5 BN BEE | ¢ £F BX
100m |EHHNAP  pe|ELS-fEIL pa|ESS-fEIL /N5|ASGHTE /N5 |EARISC IN6 |[JSAZEAR N6
1:09.38 1:14.45 1:15.27 1:16.53 1:23.89 1:38.57
BIARL— | 7 HIRANGEF | 2 BRILUBIEE | 3 A4 Fm | ¢4 i B | 5 BE BEF |6 S £H |7 KR ExX | ¢ FEF 1§
200m |ZODSEE /N6|ESS-fEIL /NM|EEEMNUO N6|ES5-fEIL P4ESENAP  6[ESHNAP 2| KEBFCRPM /N3|ESONAP /N2
2:34.15 2:44.61 2:46.09 2:53.31 3:07.84 3:18.39 3:21.03 3:29.23
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50m KSGTH h2|E55SSS it |Eoo-fEIL  th3|ESSSHERF  h3|KSGTHE h1|E55SHAF  $1|Z55SSS dii|[/hNFEASC d1
28.06 28.14 28.95 29.53 30.24 30.46 30.49 30.50
. 7 B BB | 2 fER EX |3 BEENRF| 4 BUBEM| 5 S0 BB |6 kA EERE |7 Tk EE |8 MK 8T
100m |E55-fEL 3|ERESC $13|KSG T 2 |ES5- L 3 |EOOSHRF  h3|EOLSEERF  th2|/NFESC B [EDLSEARF #
A£$H  1:0014| KL 1:00.25 1:02.65 1:03.80 1:04.09 1:04.54 1:05.80 1:06.43
7 ORE ES |2 BN EEF | 3 Kl R | ¢4 WRHEEH |5 BH OB |6 Tk EW | 7 T OME | s G BE
BBl |E55-fL  $3|E55SSS 2|EL5SHFF 2|KSGTFE &1 |E/Sc h1|E55SEE 2| ABFCH  ti2|X55NAP i
200
8
" ;gg 2:08.86 2:15.99 2:16.93 2:20.39 2:25.36 2:27.73 2:28.38 2:32.21
. 7NE BE |2 BF OB |3 BN EEF | 4 WEFEA | 5 FBK BR |6 FI ki
400m |EDBNAP  dhi|EESC h3|E55SSS $2|KSGTH i |ELoliF 2| KBFCER 2
4:47.94 4:50.18 4:51.61 5:00.72 5:06.68 5:16.17
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o ] EREE |2 WH BEE |3 HE BF |4 B XE |5 BH =4
50m JArsc th3|EREScC th2|ERESC th3|KSG T thi|/hEFESC  th3
AEH 31.04 33.07 33.21 41.64 43.95
e 7N RE | 2 R XE |3 HLE #F |4 LN EE |5 EE SR
100m |KSGTBE  #2(@rSC 3 |EmSsC 3 |EmsC h2|FBHEMUA &2
1:05.56 1:06.74 1:09.83 1:17.19 1:23.14
e 7N RE | 2 HE BF |3 LR BEE
200m |KSGTE  s2|E@SC 3| EmSsC #2
2:20.74 2:27.44 2:39.32
TE 7 WWERYH | 2 BEHF EMm |3 HY AR |4 RE KK |5 FH KB |6 BR FH |7 WIVEHR | 8 BN FE
som |E@SC h2|ESn- Il th2|E55SEE  B3|[EAEMUO d2(KBEFCRM  fi |EooMIF  di2[JSAEN h3|ASGH TE 2
35.34 35.59 36.93 37.88 39.32 39.60 39.85 40.67
T 7 Mk k|2 WERWYH |3 BHH BN |4 WME tE |5 EE Kk |6 Hh FR|7 BH KRB |8 BHR TH
100m |ESHNAP  fh2|ERESC i2|ES5- L 2|ES5- L h3|[EEEMUO h2|E55SEE 3| KBFCRM &1 |E55MIHF &2
REFH 1:14.34 1:16.17 1:18.16 1:19.71 1:23.07 1:23.92 1:24.49 1:27.42
7Ok k|2 LWERWYH |3 BH BN |4 WRE tE |5 BR FTH (|6 @I B | 7 BN FE
428155’ E55NAP  di2|E/ESC 2 |E55-fEIL 2 |EDS-fEIL 3[ESOHIH di2|ESONAP h2|ASGHITE 2
" i;:ﬁ 2:34.73 2:39.25 2:43.96 2:48.36 3:06.69 3:08.11 3:12.69
a4 | ! BENEF |2 FE FTE |3 £H HBE |4 FEBE |5 B E5 |6 THE B |7 = =W | ¢ B2 #
50m KSGTH hi2|E55SSS i1 |ZoLSHRF G |EooilH 3 |ELLSFE i1 |/MNFEHSC 1 |ESONAP i [ASGHTE &3
30.25 30.46 31.09 32.18 33.10 33.30 33.75 34.06
Nao54 | ! A EE |2 FHREBE | KA RN |4 A WBE |5 FHE KBS |6 BHREBF |7 =S LM | s BB BF
100m |E®SC th3|E55- L 3 |ESOSHAT th3|EOOSHHRF &1 |ES5MIF h3|ES5NAP f2(ES5NAP il [EHHNAP it
1:05.27 1:06.13 1:07.06 1:11.11 1:14.29 1:16.16 1:18.20 1:20.10
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